Name: E E Date: 12/18/2015 Algebra Il — Semester Test

1) Shade in the following Venn diagrams for
the names given.
@) DA NB  BANB (.

2) a) When dealing with radicals, we do not
- wanta_, [_inthe denominator and a in the radical. (Do NOT think of domain.)

@ b) When dividing with the same __ base . you keep the base and a=ft  the
EXpacts . Zebiract

c¢) When writing a number in scientific notation, there should be l digit/s before the
decimal.
d) When muitiplying with the same _ be/ s you keep the base and géfa/ the

e Ilﬁaﬂ értf‘ﬁ. .

3) Matching! Write the letter next the bracket that matches its description.

- [= . Square Brackets A) Brackets to hold your braces together
< ¢~ Curly Brackets B) Used in interval notation which means to
exclude the endpoint
A’ __Dental Brackets C) Used in set notation to represent a set
__ Round Brackets D) Used in your house to hold a piece of
- wood to the wall
Q Shelf Brackets E) Used in interval notation which means to

include the endpoint

6 7+ x? b) x3 + 3x ) x+ 6% d) 2*
f W&?ht é’t'ffffm.«’g / Cu 1'; ' 27/45,___" Aol ! for G Biiem, b/ (ot Sie af MG/Z{’*"?;EJ/’
5) Identify the independent and dgpgrglg%riables in the following scenarios.
a) The more questions I put on a t&st, the more problems you get wrong.
b) There are fewer seats to sit in as students come to class.

04) Classify the following polynomials by their degree and number of terms.

5 6) Write an absolute value inequality to represent the following: B s Y RN
o 1
& w | x-sl2s i
7) Put the following polynomials in standard form and identify the leading coefficient.
@a) 9x7 + 3x* - 8x° (=& b)6x% - x3+ 85— 3x* _@m
—Ex UG Ot 3y
8) For each of the following, identify the parent function and describe the transformations done
- toit.

@ Functions Parent Function Transformations |
= —(x+ 2)? - - _
a) f(x) (x+ 2) _po() = XZ _ ved fect )r—cezr,k/ e L4 2.

b = |x- 1|+ 3
V)= |x- 1 €09 =/x] “ight- {, ap 3




9) What is the domain and range of the
@ fopllowing graphs?

10) Are the graphs from #2 functions?

& o yes B yes,
~ Answers for:
' 11) tf
¢ 2 X & T, =

b) X 7 *?:-:37"' CF%?%,‘“’)

@a))ylﬁy)"
2,5 }!1:.
b) ‘2}?)’ ol

9) 2 xCy & 2xy’

13
@ a)) ¥ +220 & 500
x £250 (-0,250]

]i,)) -E_&, 25’&:}

15
Y o'z xw
by | F5xle’

@ 0 2V )

b) (~e2o0)

£: Y6, -0

17) .
@ a) Al f'\peaf{;,
b) (-2, h?"zf:_] e @)

18)
@a) ¢ %"‘”’
.
. 19
Cral
g Y
b) —"‘5("“
20)
@ 2) [(2,3) Ep>
by (e, @),

D) i)l)».\’} coxi24x +2F

3 2
b) 6},9 o= .,.nr_,g',\' Hex+7

()2 wvr v,

b) —2x? b 2x ~Sx £5




11) Solve the following inequalities and write your answers in interval notation.

a)2x+9< 20 0)>2(7x + 15) £ 14
> ~7

12) Simplify the following radicals.
a) YxBy13 b) Y/32x8y1S ¢) (64x*'y?)s

13) This paper can only hold 500 words. I have already typed 220 words.

a) Write an inequality to represent this situation and solve it.

b) Write your answer in interval notation.

c) Write the interval that makes sense to you and EXPLAIN why you chose that interval.

14) Solve and graph the following inequality: 7— y > 5~ y
15) Simplify the following expressions. Write your answers in scientific notation.

y e | b) 2.5 10° + 7.4 + 107°
30+105

16) Find the domain of the following functions:

a) f(x) = soriox VIX+ 6 Ib)f(x)= X
Akg  X2®
17) Solve the following inequalities, graph your answer, and write it in interval notation:
a)|9x - 4|- 7> -10 [ by 419x ~ 13| = 20 Py—13125
5 N

18) Simplify the following expressions. Leave your answers in exponent form with positive
exponents, My 21 —qH3 ES

a) (43/;5’ .,/’jﬁ ‘ b) (;)n XZz2. A’&—:?:

19) Rat\fonallz}:a/mmphfy the following radicals.

a) \E b) 3=

20) Selve the following compound inequalities, graph your solutions, and state them in interval
notation.
a§<4b-—3<9 24 b<3 byx+ 2< -20Rx-2> 2
! t7 - Y x>y
21) Multiply the following polynomials. ¥ e
a){x- 3)(x%+5x-9) by(2x+ 1)(3x% - 4x+ 7)

22) Multiply the following polynomials.
a) (x - 2)? b) (2x% + 5)(1 - x)

L
x sr -4 w7

X x5 2 et 5 1 D™ &

| Yy



Name: k i
Algebra 11 — Test 4
- 1/28/2016

1) Factor the following polynomials.
_a)yx®+ 16x + 28 (XFZ_ W 1) b)x?+ 3x- 10 CX*’?-)(X+.5‘)

c)x? - 7x+ 12 _ dyx?+ 11x+ 10
(x~ 3 Yx-v) [ 7+ (x+10)
2) Fill in the blanks for the steps to factor things completely
a) (x( F
~-Watching to make sure the ﬁrst term is positive
b) Binomial {:
CZ/) -Check for _of sEF @ (specxal case)
¢) Trinomial
-Besttouse L7 <> method.
3) What does it mean 1o factor something?
é) brite  as a //@fw
4 Factor each polynomlal by groupmg v facter  Gonpetely,
{e‘ ,&xz + 25x - 40 2x* FSTEY - a x3 - 4x - 16 + 4x? N (x*4) +4 (Xaﬂtz‘)
® (25T (5x-2) . &) ()
_. c)2x3 - x*- 3+ 6x d) 7x3 + 2x2+ 28x + 8 (cH4) CX‘Z)(sz)
X (2,)(" D +_3(2X l) *'zé-b«:"‘f)c/\’lh’) ,\;L(?x+27 S \{(7)‘,_!_2}
5) Match the description to the following general transformations. (TK‘PZ)C\“ ry )
N f{x)—=f(x+5) A) Reflection across x-axis
Y- f(x) = f(5x) B) Refléction across y-axis
Y, o F(x) - 5f(%) C) Right 5
B f)+ 5 D) Left 5
LA fX) - - f(x) E)Up5
B flx) = f(-x) F) Down 5
1 G) Vertical Stretch by 5
FRORHIS ) Vertic s
F fx)—=f (E x) H) Vertical Compression by s

I) Horizontal Stretch by 5
I) Horizontal Compression by -;-
6) What is the prime factorization of the following numbers?

@ a) 164 =2% x4}

b) 205 =S X4 A
c) 121 = u* /ﬁ )
d)48 =243 ANV

7) Graph the following quadratic equation: y = (x — 2)2+ 3

)




| b
8@“?1‘113 a quadratic equation to represent the following graph of a parabola. . [
) Label the axis of symmetry (b) y= —X* 42 A
’ 5’ ¢) Label the vertex (c) : Ny P
d) Label the zeros (d)
¢) Label the y-intercept (e) 2 v
Cx*z-]cﬂi)p 27 H -"df .
- -8 - y
BT e N
9) Factor the following % § completely. " 3
_ a) 4xy — 4x%y — Bxy b) 2x(25x% — 36) = 2x(Sx ~¢) ($rt6) . A
@) q(2x*~x rig) s / ) -\
6 5 l‘? _ E -a}-
c) 43|c‘4 —30x° + 36x d:? ijé' 81x ¥ (}, . q)(y 3)(v12) i \
2 ( 2x-3)(x *é) ox (IR

-3 |2 lig
10) Factor the following polynomials completely.

- a) 64x% — 25y @‘M _5})@”5,) b) 25x* + 20x + 4 (S‘)ﬁ z}%

2 _ F% 12 __ .
C) 9x 6;'}:;1)1 d)x 16 XG"' '-‘{}ka-f—‘{)
E (X=2)(x°+2) (xb+4)
11) Factor the fallowing polynomials completely.
a) 6x2 — 29x — -3¢ b)9x2+17x+8
@ R (xts) (xel)

c)24x% —49x + 2 d)—3x2—x+2

R I A% KeeTT)
12) The area of a rectangle is (3x% — 4x — 15)in?. What are the width and length of the rectangle in terms of |
x? '

@ "{?2— b
o x b2 —45”
Bx| Ex | 3ox +“W ax*| Ix X 3xt] #2x —Y
Lt i-s Tglo]e -1}-3{-2 L X
5’8
X=2 -uq

24X | 29 -G x
N=b




Name: K&?’
Algebra IT — Test 5

;20232016 C ) (X 0
" 2x | - ' _
1) Solve the following quadratics by factoring. (X t+ 3)()”5 )
) 2x% =3x+1=0 b) x2+8x+15=0 B i X A2
G) x:é,f X =-2 -5 | a,y/gxa_,c_w
c)x*—13x+22 =10 d)+6x% fx+2=0 C - *’3’*7“2

Z
2) You have used all five ways of solving a quadratic equation. Name all five of the ways AND state what they
are useful for. (OR, when would you chose to use one over another?)

§ ) C/ﬁ/ﬁ;’.ry - ﬁ'{wﬂ‘{y; werf 5 t{) lemy ".‘3'&“7« Spuasz. ~2 Crreles e ten o
& Abacirthy o bushesi. s)e 5
3) S?wm—:. et oy 5/ Gudhe o mela, Slees folled,

3) The f(x) function can model the distance a projectile is from the ground where fis measure in feet and x is
~ inseconds. f(x) = —16x2 + 45x + 200.
é )a) What does a, being neaative mean? (Why is it negative?) —> kg don

b) What does v, being ivemean? (Why is it negitive?) — Hiwun  op. 21,76
c) What is the velocity of the projectile? — ¢ 5“‘?'4’/&:@ JI 1825
d) What height is the projectile launched from? 206 py. s S o
.~ &) How long after being launched until the projectile hits the ground? T 82
4) Use the discriminant to determine how many and what kind of solutions you would get for the following.
@ Discriminant Number/type of solutions
a)x?2—10x+25=0
) @] [ Keaf,
b) 2x = 3 + 2x? ~Y.2.2 ,
Zx*t -2x +3 1 = Tew 2 Mgy
c)3+x? = —4x i6—17 =
Xt #3720
5) Using ax? + bx + ¢ = 0, then '
S
& - ac

6) Solve the following quadratics using square roots.
g a) x* = 36 X=3*C

b)x? =196 =0 x=#+1y

)x*+49=0 2

;L’"U?-' e
L dat+4=13 e

s



7) For each of the following quadratics, find the vertex, the axis of symmetry, the y-intercept, the zeros, the
domain and range, how it opens. '

(o | Functions Graph Axis of Vertex | Zeros | Domainand | y-intercept

o Opens symmetry Range

a)y =x*—10x+9 | LLye) | MO o, q

of |x=5 |G |qo) | £Tw2) 7

by =x*—6x+8 ) (2, ¢) 1) S o
uf X=3 G ) (v, o) R %) (¢€)
)y =3x>—-13x+4 L o T
Y uf K= jf} C%) 0wy (LJ ! o'?) e & "
=
8) Solve the following systems of nonlinear equations. (-2, <)
: PR S () 23 3= 2x 19
@ ){y=x2—3 x =¥, - b)[y=2x2—3 Pt —E=o
x—6y =18 b- y=2x+9 ' (X——s)(nz)mc‘
=3 =2
c){J’=2x2—8x+3 2xgx 32y -2l d)[y=x2+4x+7 N *=2
y = 6x — 21 L 7 iz y=x+5 X+ b7 =xp s
wx —Nx+2i =0 2,
CB,: “3? (1{ —BK,!(- tf) 6_2,3) X 13x+2=0
U') 3) v=39 = (T])Lf) =={,-2.

9) Qur schools revenue can be modeled by the equation C(t) = 0.75 t? + 10t + 200. Where / represents the
number of students here. The weekly cost of running our school is modeled by: €(t) = 80t + 700. How many
students must our school have to break even (when revenue equals the costs)?

Z

10) Solve the following quadratics using any method. Leave your answers in the simplest radical form.

a)x?+2x+9=0 b) 3x2 —1lx -4 =
3 ' - -1
& & imegleary =9,
c)x?—20=0 d) 2x = 3 + 2x?
X= iZE pa "m"’ﬁ"‘“’/’f

11) Find two integers whose product is 160 and whose sum is —28.



Name: K ey

. Algebra Il —"Test 6 24 m
[ 3/24/2016 — z
=2
1) Solve the following equations. Leave your answer in the simplest radical form. 5+ X ﬂ Jg—
a)x?+25=0 ro, b) =149 = x? — 24x +lyg
¢

@ : 2, 20,
) X% + 18 = 6% “ﬁft)ié”iw =t g d)0 =3x2 + 4x 4 3 —‘/i@

X 2 2 o -

-s& 2,5 &
513, 2

2) Find the values of x and y that make each equaho

N JFue,
é 3)25'[+1——d+67'£‘r Zs Q d’%ﬂ =

byc? +4i=d+di -

of“ ¢ -
3) Statcg-ﬁ';l_yugate of each of e fol]owing complex numbers.
- b)2i— o
O 62,

4) Multiply the following complex numbers

a) (5 +60)(2 + 1) ' b) 7(-;1_3£+14) @
(O] b ?\[f@

¢) (7 +50)(7 —50) d) (1 + 20)(2 = 10) ‘
24342 @

5) Add/subtract the following complex numbers. Given: z =8+ 9i & w = 2 — 3i

[ )

a)z — 5w b) —4z + 2w
cz+w d) 2z = 2w

Lo +6; b HEL —Y4 4L, = @)

61 Find the absolute value of each complex number using the values of z & w above.

457
7) Simplify and write your afiswer in the form a + bi. -

a)% 3 t b)S —61)"’{
SEre, it

s (H20) g 4q; Ge7p) -5 Tl t2l
asrar) oL TE L & a . : -
1-2i (H*ZL) T s ST Fﬂs:; d) 3 7

2+ M0 :



2y -3
sl 0 _é;ara_t ) g — A

o~ @ 3 3 = [~6
8) Solve the following inequalities: ! 7z fé o 1
a)3x% —3x =1 > — b)2x* —9x +5 < — _
a 77 codUve) Lesa 7 %3]
) ¥ + 13x + 45 < (x+8)%rs) dx?—x+5<11 (X=3)x+2)
~5 i —it
r Ggfsj e Lﬁ"‘ﬁ\— C‘”Z >) L@M@-
; IZ 9) Put the fol]owmg equations in vertex form and identify the vertex. -2 3
HT a)y=xt+12x — 17436 byy=-3x2—-12x + 20 |
(K“L“G)l'#' =53 \/(—L,‘"S_}') =3(x*+dx, + 4) #20 12 )2
o S3(x2) 4 32 g/(mz 32)
)y = x2 +14x+‘H ftl?' d) —4x% —16x +y [{17 0 @ 202
A V7,44 y=H(cr s )= ez
xet) = (%74 YrH L (20) 2
10) Use the information prowded to wrlte the standard form of a circle AND identify the center and radius.
a) 6x + x2 — 10y = 30 —y? 5 C(’ff) b) x2 +y 22x+18y+102—0
2+ = ’
(o @I+ O-F =% < s G
¢) Center: (13, —2);Diameter: J%' d) (x + 3)2 + (y — 2)2 = 20 .
2 2 _ Translated 3 units nght and 7 units down #=2/5°
~3)" +{y+2) =6
(=) #(yt2) =€ b =0 (457 = 20 e, )

11) Matching! Match the graph to the inequality that describes it.

(%

)y <x*+4x—2 fi‘)/y>—x2—4x+2
ATy <x>+4x—2 Ay <=2 +4x+2 C
Oy >xttax—2 59 = 3%~ 6x + 2 :a_»,-—l



Name: tﬁy

Algebra 1T £ Test 7 |
5/3/2016 R

: . . lz .
1) Create Pascal’s Triangle down to the 5" row (degree 4) " V3 2 /-

el Py o6 Mg
2) Expand the following . L, !
a) (2 —i)* 2Ty (2) (<) +6 () () +4 ) =D 1)
te —~32¢ ~2q +5¢ 1 =(~7 —oy;

3 , - ; . _

b) {a +2b) a3+ 2%2) + 3(0)°20) & [24)° = (g +€atb + 12ab® *”%D

3) Give a summarized definition of what each of the following theorems tell you.

a) Fundamental Theorem of Algebra:  degrve = # so/n

b) Complex Root Theorem: j (ome in faics,

¢) Irrational Root Theorem:

d) Rational Root Theorem: — P = Lacks ef  rshiat Aerm
T = -f—;;c,kfj ‘«-.ﬁ feacl’:!/y e,

4) Divide by using synthetic division. | -3 -7 -7
(x*—3x% —7x — 14) = (x — 4) ¢ g b 36
o

X7+ kT H Uy pq 5 22 [
5) Multiply the following complex numbers. X~

a) (1+20)(3i —=5) 3. -5 +(F —p, = —4 =7,

2 . 3 2
b)3iF°(4i+6)  j2.rig: 2 X 42X
X1 2xd
_ il B P
6) Multiply. , , , & 7 / 2933 1932
L{xghéx"'.pzq,y-g,wt{x?- (x*—2x +7)(4x° + 3x~ — x*%)
7) When you divide 65 by 4, what are each of the following numbers called? _f&
2) 65 = dividend G lgs
b) 16 = queticf. 4
C) 4 =c{:‘w‘5g( ; .?‘
d) 8 = asthing i
e) 1= reomafnle i

f) When dividing (either way), you always have to watch for & 4wst  variables that are supposed to be there.

8) Divide by using long division. s
(3 —7x2 +12x) + (x*—3x) =(X-Y
9) A grain silo is shaped like a cylinder with a hemisphere top. The cylinder is 20 feet tall. The volume of the

silo is 21067 f 3. Find the radi s.0f the silo. L K, = y oy Yy
r=9pe [:_:jlo = f 2 X ~7xH 12
2AA+ f g XX X Xotiex

10) Write the simplest polynomial function with the given zeros. _ ~ x4t
}(q ,qx}ﬁzgxl,zé.x-*}lg_ V3, —4,8 SO =Ar T2 %;—g,} Yz
2 ' VX 7"!2)['
11) Find the product. R 2D %e{ )(x-5 foa =
a) (x? + y°)(x* — 4x*y — 8y?) _ L ) Z 3 . M
XY Py gy g Xy -8y R %
b) (2x2 +3)(4x? — 6x2 + 9) X gmph o 0

Zux?+2xr2

P
o e o -
@L; & 25y 22:&{:_,,.
%A 26

224 o



- . e z L 7
12) Divide by using synthetic division. ~Z 4 -G
7 4 x*+7x+7) = (x+ 2)
X 13 . 2 3 |
13) Identify all the roots of the equation: 3 N a
X=1 &+ a7 x* +9—6x? = —4(11x — 2x2) X x4 x 1 =0,
;5 —HUK +gx*
14) Use synthetic substitution to evaluate the polynemial for the given value.
a)P(x) =x3—5x+3forx=—1 ) = -
o543 P( [) 7

b)P(x) =9x3 —15x2 —3x+2forx =1 P(\) =~7

15) There are three special cases to watch for when factoring polynomials. Demonstrate how each of them
factors using a’s and b’s. 2,2

a) Difference of two squares: b= @’H}’) (a —“é’ )?_

b) Sum of two cubes: P = (ath)(a* ab}b )

c) Difference of two cubes: &-p = (a-b)(a 24 bt )

16) Multiply. 3y N
a) 7xy(4x?y? +3x*y3) 28Xy +?—U($yl’

b)3x(x +1)* 35y ax? +18x7 12003k

17) Factor completely: \ - "
2) 8x3 + y3 (2x ty) (Hx" % 2xy */)

b)xd - 522 +3r—15 (X “13) (x-5)

18) Identify the roots of the equation. -
x3+2x2—11x—12=0

x: -—-J) 3/—_‘1
19) Identify all the roots of the equation:
e x*—x3-31x*+25x+150=0
X= 3,5,-%4 7>

20) Divide by using long division.
- L ﬁ.‘?:—
XXt 5

21) Find all the roots the following equation.
¥ =7x%+14x—6=0

3,24 /2.

(P +2xP—x-2)+(x—-2)



Name: ‘}\’Qi ya
1/8/2016 v

Algebra II Quiz
1) What are m and b in the slope-intercept form of a line?

Slofe € iater
2) Given the following information, find the equation of the line in slope-intercept form.

a) Slope: —3, y-intercept: 4 F= 3 4y
b) Slope: 2, Passes through: (2, 1)

y=2x + 73

3) Match the following general transformations with their descriptions.

lﬂ flx) = flx+3) A) Reflection across x-axis
Ff (x) - f(3x) B) Reflection across y-axis
G f(x) - 300 | C) Right 3
E_fl) - fx)+3 D) Left 3
A )= —fx) E)Up3
Lf(x) = f(—x) F) Down 3

(3) Vertical Stretch by 3

H) Vertical Compression by g
) Horizontal Stretch by 3

J) Horizontal Compression by %

4) Given the following lines perform the following consecutive transformations. Simplify each time.
f=x+2 - fx+2) - f&x)~-1 - 3f(x) - —f(x)
) ) = x LY b) x +3 ) 3y +g &) 3 g

5) Graph the following lines and their

transformations on the same graph. \ >

a)y=-2x+3 Q; ,44

-Down 4, Reflect across x-axis \\ 7

byy=x— 1_ ' . uf: 17
-Reflect y-axis, Vertical Stretch by 2 N\ \

é‘,




Name: kt',-t/

1/15/2016

Algebra I Quiz

') Write the prime factorization of each number.

a)18 -5 .37 b) 150 2. 3.2

2} Find the GCF of each pair of numbers.

a) 8x%,11 b) - 64x*, 24x*
FXT

3) Factor each polynomial.
a) 415x + 10x? b)33x3 + 22x% + 11x

— 5}'\’(22{- 'f'}-) 1]){37{‘?-4_ Ix + I)
4) Factor each expression )
a)y(x- 3) + Zx(x- 3) O; +2X) (x-3)
b) S(3x - 2) + x(3x - 2) (gﬂ){w-z)

5) Factor each polynomial by grouping.

2) %3+ 3x2 + 5y + 15 )(?_(x{-B) + 5‘“(}(--!'3) = (Xz"f-r) (X+3)
b) 2% - x2 - 3+ 6x xH(2x-1) +3(2x-1) = (7*1+3)C2X")
)5xt- 3+ 3x-15 Y (X-5) £3(x-5) = (=x43) (x=57)

6) What does it mean to factor something?
LY write a5 & F’ﬁ'a(bto‘}*,



Name: kff(,/

/2272016

Algebra Il Quiz

1) Sect 7.3 HW. Factor the following polynomials.
a)x?+ 12x+ 11 = (x+1) (x+11}

b)x%- 10x- 24 _ (X~12) (xt2)

2) Sect 7.4 HW. Factor the following polynomials. Scr ¥ 1
a)6x2+ 11x+ 4 Czev) (X +4) 2r [ by &x N
b) = 3x%+ 16x - 16 —(yx-v)(3x-4) HPR] g
X ~4
3) Sect 7.5 HW. Factor the following polynomials. 3x /_?:\:z 15
a) 25y% - 16x% = (Zy ~'ix) (S) #4x] — 1kt -6
b)dx® ~ 4x + 1 :(_va*l)l Y
4) Sect 7.6 HW. Factor the following polynomials. > 16
a) 4x® - 30x%+ 36x* =4 x(X-C)2%-3) Hx auSyw + ¥ <1-12 X =
b) xy* - 16x X(y‘.;.'f)(ymz)fyf-z) 2p ‘;X - ;—:
5) Sect 7.6 HW. Factor the following polynomials completely e -3

a)12(x+ 1)%+ 60(x+ 1)+ 75 3@xvt) +5)°

by 45x(x — 2)* + 60x(x = 2) + 20X g r3px-2) 2)7
Cq,;;,i&)/-#‘f) x( )

6) Fill in the blanks for the steps to factor things completely

N 6CE

-Watching to make sure the first term is positive
2) Binomial 2

-Check for A LE (special case)
3) Trinomial

-Besttouse </ method.

J,’Jax ) ;‘umoqa( )



Name: k@‘/

2/5/2016 ¢
Algebra II Quiz

1) For each of the following quadratics, find the vertex, the axis of symmetry, the y-intercept, the zeros,
the domain and range, how it opens.

Functions Graph Axis of Vertex | Zeros Domain and | y-intercept
opens symmetry Range '

a)y=x*—x _ 1 A il e D~ o

) w el a6y T i e | Go

b)y=—x*>—=2x+3 - . - D (-0.0%) )
down |7 (o) |3 R R, | e

...(_xz+2x —3)
(K+3)(x-1)
2} Order the following functions from widest to narrowest.
1 1
flx) = Exz +3  h(x) = ___B_xz g(x) =8x%*—2 R{x) = —2x2 Q(x) = x?

h(9), £0x), @09, R(x), (=)

3) You drop a tennis ball out our math room window which is 32ft off the ground.
a) Write an equation to represent this situation. L) = ~lbx? +32

b) How long does it take to reach the ground?

1.9 sec,

4) A fireworks shell is fired from a mortar. Its height is modeled by the function:

f(x) = —16x> 4 224x, where x is the time in seconds and fis the height in feet.

Using a graphing device:

a) The shell is supposed to explode at its maximum h%t height should it explode at?
25 (F ‘

=
b) If the shell is a dud, how long will it take to rgz‘runq to the ground?
Iy sec,
5) Selve the following quadratic equations by graphing.
a)3x2—-27=0 £3
b) 5x% —12x + 10 = x% + 10x
S, £

Ux*—22x e =0
2x ity #$ =0
L&

MY
2x [2x |-lo

x|

]
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Algebra I Quiz

1) A basic formula used to model a projectile’s height is given as: h = -:—ag t% + vyt + #. What do each

of the coefficients/constant represent?
Ay —2lrhel  Gcleleratin
vy Rkl gl

hg, =wirtsl  he sht

b) How would you say “vy™
A0t

2) Solve the following quadratics using square roots.
a) x? = 169 X=Fi3
byx*-625=0 x=+#25

)x?2+25=0
;ms?:zl—.qf'?/
3) Solve the following quadratic by completing the square.
) =4 s X rbx 1o = (6
(x+3) "= 25

X= 3 s “f) 2
4) The height of a rocket is meters is approximated by h = = 5t% + 60t, where h is the height in meters
and 7 is the time in seconds. ~So (42
a) How long after being launched until the rocket hits the ground? ;- Sy .
b) How fast is the rocket travelling? *Be careful of your units.

éom/f-dc A

5) Solve each quadratic by factoring.
A)x?-2x-8=0  (x-4)(x#2) X=¢ -z,

b) 4x%? - 9x = -2 X =2, g
. Z. —
r-'l 1 ""‘X 22

6) You have used four out of the five ways of solving a quadratic equation. Name three of the ways
AND state what they are useful for. (OR, when would you chose to use one over another?)
— Fﬁrﬁm‘ﬁ; i.‘a) o }Mr_)/ ¢ Lewrf S
2) Facter)
sk,

- ]
2 M0 J;, derm

C’) {Gﬂ\ﬁf&};}y +he .52.%,;,’
~zdthe Fhings,

5— ) @t{acﬂf i ‘p&fmw'fq

> Sile bulfei
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Algebra II Quiz

1) Solve the following systems of nonlinear equations. *Give your answers as a point!!

@) a){yzgxz _140 SX-lo Hoxt Y p Ksw i+ T o
y =5x -
b ¥ =2 -3 2x=3= 240g ‘*} ,7}2
y=2x+9 — 2!

X~ v xEX-6=0
2) The f{(x) function can model the distance a projectile is from the ground where 7
and x is in seconds. f(x) = —16x% + 63x + 10.

‘. @) What does a, being negative mean? (Why is it negative?) -5 ¢ s 5 wllin, Y

{ b) What is the velocity of the projectile? ~26&3 FH/e. gy petze géw’?-

¢) What height is the projectile launched from? [of+. Yeof &7y
d) How long after being launched until the projectile hits the ground? —(3 F \] L3 — Y, 0. -l
Y | seze. 32

3) Using ax? + bx + ¢ = 0, then
| B A
0 e e
4) Solve the following equations using the quadratic formula. Leave your answers in simplest radical
form. (not decimal!) 2 -4 =0 L rE J s - Q
~ a)x?=2x+9 X * > =1t de
{) wo=2t—x-2

I3
!-i:)miiff fi‘U__ Yoz

-

| (LA

5) Use the discriminant to determine how many and what kind of solutions you would get for the

following. ¢ - el

a) ‘(“312 _!_ 2x _ 1 q—-"f 3 { S/ L P"l‘f?'r%,?/ﬂ
@b)%x2+x*3=0 | +3-{3= 7 2 Keal,

C) 8x +x2 =-16 é"f ‘{ / _

~Ye = J
X,L+g~){ G =0 ! f‘?&{

6) You have used all five ways of solving a quadratic equation. Name all five of the ways AND state
what they are useful for. (OR, when would you chose to use one over another?)

S D Gmﬂ“' b) e ) P
@ "'7F-"'Zmﬁif¢ (alwa s wecks) ) ( Y ii%¢/55+éz é% e
2} fack 4 . CuCs
"'??Hrﬁ- S") @Hﬂc&ﬁf#&, wgfrﬂ@(q
3) Squace. Lot 2 St et

_% M (1% L':( _’{,ﬂ’m
**7) Describe how the vertex is related to the x-intercepts of a parabola. Think about the quadratic
formula and how that ties back to the graph.

Lertex i3 the Cealyv oA e X~frter
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Algebra IT Quiz

1) Solve the following equations.

ayx?+36=10 X=46, e ]
b)0=x*+4x+8 4 - -f* = ——21‘2{
/@

2) Find the values of x and y that make each equation
a) 5(x — 1) + 3yi = —15i - 20 P @C -3
b)x + 3xi =4+ yi 3x=y

X=4 1z
3) State the conjugate of each of the following complex numbers.
a)—25i+1 |+2.5,

i
b);a—ﬁ ._e____i_tg_

4) Multiply the following complex numbers.
a) (2 =307 +40) 1§ p§-20 12 =263
(—67i + 10) .
, 067,
5) Add/subtract the following complex numbers. Given: z =5+ 7i & w = 7 — 5i
a) z + 2w SH7 -0, = (09 -3
D=BEAW sz 750 = CE-26)

6) Find the-absolute value of each complex number using the values of z & w above.
P 25

a)z =
&

b) w %

7) Simplify and write your answer in the form a + bi.

a),';r"",]’d’ﬂ =
(+) (~2-1i) 26 =240 =20y

b) ~2tai {24, ) Yo
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Algebra II Quiz L2
1) Create Pascal’s Triangle down to the 5" row (degree 4) | 3 % )

2) Expand the follomng -~ =g T
a) (2 - 30)* 245 ¢ Y30 - ECFEI) + a2)(=3) + ()t

e + —9¢; 20 + 204, + g/ :@}

a’+ 3a(£b)+3a{zb)+ ?

(-2} 3.7 :
3)F1ndthepr0duct ) SN *l2ah* 5:?\
a) (2x + 5y)(3x% — dxy + 2y?) /L x +7X}’-!6X}/ 'Hf/?

b) (x? +x2 +1)(x%2—~x +5) X MX' ng ,%,— + 5

b) (@ — 2b)?

4) Multiply the following complex numbers.

) (4+DT+4D) 22, +7, —4 = 24 +23,
,5 R ERCID
b) ##7 (—67i + 10) @

5) Multiply.
8) 7x*(15y7 — 9x*y + 3) zas‘“x‘f/_- (;B,r?)/ + zlxH

b) 2(x — 3)

6) Multlply e
G2+ —2x3 +x%2—-1)

X£’~2x5'+ttx4 ~Lx? raxt—3

Sx l'I‘,‘\({,f 2;}"1____
ZX 6y’ Xy txy?
5"‘}/ 15y3, 28k oy?

x Xt
Y x| X
X =xT=x’ | =X
LY ESE BV g
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Algebra Il Quiz f >
1) When you divide 87 by 4, what are each of the following numbers called? —y
a) 87 = d\ide 3
b) 4= ﬂfw’sja-,r

c) 21 = quwticrt.
d)3 = Bemeide-

e) 1 = merhqy,
£) When dividing (either way), you always have to watch for S SLe variables at_a.te_s_l_xpposed to be
there. st

s/ B 7x -5

2) Divide by using long division. oz
(612 = 7x — 5) + (3x — 5) bX Hex
Fx-s5"
3) Divide by using long division. —3Xts
(x* + 6x3 + 6x2) + (x + 5) a
4) Divide by using synthetic division. [ - {
X?:Tjg/ (PH2P—x—-2)+(x+2) -~ 5 2.
] 0 a0

5) Divide by using synthetic division.

_ 2 . -
\ (4x* +5x+ 1)+ (x+1) Y & '
P+ 1 | = R B
6) Use synthetlc substitution to evaluate the olermal for the given value. ' 0
Q) P(x) = 2x? —5x —3forx =4 Pl4)= 4 ¢ L/”%_‘—LL
1 3

b) P(x) =3x3—5x*>—x+2forx=—=

**Bonus

Factor: a® + b® = CQH_’)C”Z‘“Q}? + b:y .

-H:X
+5‘X

X4 ox
—X lﬁ"}*{
e kal]

TSxges
XY
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Algebra I Quiz

1) A basic formula used to model a projectile’s height is given as: h = -:—ag t% + vyt + #. What do each

of the coefficients/constant represent?
Ay —2lrhel  Gcleleratin
vy Rkl gl

hg, =wirtsl  he sht

b) How would you say “vy™
A0t

2) Solve the following quadratics using square roots.
a) x? = 169 X=Fi3
byx*-625=0 x=+#25

)x?2+25=0
;ms?:zl—.qf'?/
3) Solve the following quadratic by completing the square.
) =4 s X rbx 1o = (6
(x+3) "= 25

X= 3 s “f) 2
4) The height of a rocket is meters is approximated by h = = 5t% + 60t, where h is the height in meters
and 7 is the time in seconds. ~So (42
a) How long after being launched until the rocket hits the ground? ;- Sy .
b) How fast is the rocket travelling? *Be careful of your units.

éom/f-dc A

5) Solve each quadratic by factoring.
A)x?-2x-8=0  (x-4)(x#2) X=¢ -z,

b) 4x%? - 9x = -2 X =2, g
. Z. —
r-'l 1 ""‘X 22

6) You have used four out of the five ways of solving a quadratic equation. Name three of the ways
AND state what they are useful for. (OR, when would you chose to use one over another?)
— Fﬁrﬁm‘ﬁ; i.‘a) o }Mr_)/ ¢ Lewrf S
2) Facter)
sk,

- ]
2 M0 J;, derm

C’) {Gﬂ\ﬁf&};}y +he .52.%,;,’
~zdthe Fhings,

5— ) @t{acﬂf i ‘p&fmw'fq

> Sile bulfei



